




4 Bouten M12 x 70                          ( * )

800053

24x13x2,5



4 boulons M12x70 ( * )

800053

24x13x2,5



4 bolts M12x70 ( * )

(800.053)

24x13x2,5



4   Bolzen M12x70 ( * )

800053

24x13x2,5






	pg.1
	pg.2
	pg.3
	pg.4
	pg.5
	pg.6
	pg.7
	pg.8

